Parts List ..x

3 DAPUIEIN
A ————————— — ¥ ¥ ¥ /
Model: TC206 18—YJRAR2—F 525056

Q = ULEAETR

MARLIYAMA MFG. CO.,INC. 2020. 07.



HaTRODITERIZDINT

1. BRSO TEX DB

wiEs (BX) - BARES - BBHREW - MEZTHEZEL,

INTEATIAS (X RI R D g TR E ZS RS,

MamlEwend THILMIESGR ] Z23HERATIZEL,
AHRRITEBRLIEZLDEHYFET .
ABRREIBBEDAFELEERTLIENAHYET,

Fig. DFRRIZTDNT

ASAM—=UIZ Fig. XXSRBERRLTHYET . COXXKIFAFTAM—D
ELORHELESERLFET .

o> 0 & 0N

B R
7, /\0_:)

N 7 P 1
2. 05200 —=R SUZH Tl i, 3
3. U ARSI = i 7
4. FvILY, TF7TJ)—F BRIIZD 9

S AR cov e 11









REES | BRES A B &
1-1 364919 | TC206 1
1-2 226546 | TUNDVY 1
1-3 226544 | B {hUIbA 1
1-4 215532 | fiv41=%") 1
1-5 054691 | YUhT9 9347 1 | 6794
1-6 089738 | 6 YKLk 1 | M5X15
1-7 215418 | nUNWMYThTY 9347 1 | 87494
1-8 092561 | 6 A9 Lk (+)SW 6 | M5X25
1-9 225835 | ¥ Yr—R934T 1 |10~ 15794
1-10 225897 | 6 9K Ik (HW 1 | M6X8
1-11 092550 | 6 HYH Wb (+)SW 1 | M5X25-7T
1-12 225891 | NE/KRA 1
1-13 225892 | NE/RAB 1
1-14 225893 | #INRY N AYEFYR 1 | M8t4Y
1-15 225896 | 6 HYK Ik (+) 1 | M5X10
1-16 220549 | F194v—) 1
1-17 242537 | #=L7L—} 1 | TC206
1-18 235776 | nUMIL A TRA 1 |4y
1-19 235777 | AUV B ThA 1 3%
1-20 237531 | WAL =934T (16) 1 [ 217294
1-21 560182 | 3A° )L 1 [3a9-74
1-22 235748 | ARYMLIAY 1 | 810LI/O 755
1-23 220533 | hAhTNUN934T 1
1-24 222821 | Y AIVAN =934T 1 | 25794
1-25 092561 | 6 A9 Lk (+)SW 2 | M5X25
1-26 224624 | FV77-9 1
1-27 231654 | NYv—9 1 | ECO




>4, a0)L

T>>z
2OT—=R. >

TC206
2.2

16

~6H

2020438

A BE|AES|AEE
K5 \rxze)\Easie

2020478 ~

X ~202052R




REES | BRES A B &
2-1 875443 | 1YYV 1 | EE201/36
2-2 289667 | Vu& 1
2-3 289643 | H'ArYb 1 | T05
2-4 267290 | %Y1 2 | M5X20
2-5 272744 | 41UYaL-4 1
2-6 267049 | B’ A 1
2-7 269826 | FAIRY (H)WSW 2 | M5X25WSW
2-8 246656 | ¥777tV7") 1 [9~117244
2-9 246663 | H'ATYb 2
2-10 246662 | TAINAY7)—h 1
2-11 246731 | 6 h9T7FYEK ILE WSW 4 | M4X10
2-12 266402 | 6 h9T7FYFKILE WSW 2 | M5X55
2-13 247073 | AT 1
2-14 276868 | TuH —hin— 1
2-15 269827 | 7TAIRY (+)WSW 1 | M5X16
2-16 247186 | M7 hi=av77)—} 1
2-17 563151 | %Y1 1 | M6X15
2-18 261878 | FYb 1
2-19 280144 | 4YEVAY (+) 1 | 4x16
2-20 273674 | 4709—2 1
2-21 280488 | ATYVY 2 | PPL 6001
2-22 261492 | A4LY—) 1 | ISCD12287
2-23 261386 | A4ILY—I 1 | ISCD12227
2-24 055185 | C h'4kin 1 | H28
2-25 261612 | 6 W97 Y%K Lk WSW 3 | M5X30
2-26 289671 | E'AkY 1
2-27 261158 | E'AMUYYY 1
2-28 261036 | E'AbUEY 1
2-29 288520 | Z—FMATYUY 1 | 8E-KV8X11X11.8
2-30 261576 | =497’ 2
2-31 274146 | 9709703077 —F 1
2-32 269168 | 479F7tv7"Y 1 | 33347494
2-33 269169 | 47VF1 2
2-34 269173 | A7Yuy 1
2-35 269647 | 97VFK b 2
2-36 269175 | VY% 2 | 6.1X15X1.6
2-37 261777 | 9I-7"79% 2
2-38 286527 | 77UAN-TtY7Y C 1 |39~ 41744
2-39 280366 | 77Vhin— 1 [ YIML—
2-40 280314 | 479FN 743077 1
2-41 014210 | C h'4ki7 1 |Ss10
2-42 269831 | FTAI%RY (+)WSW 4 | M5X20WSW
2-43 269991 | 4vv3y 1
2-44 280477 | A%Y)a 1 | M5X28WSW
2-45 269423 | Yh9TUb 1 | M5




>4, a0)L

T>>z
2OT—=R. >

TC206
2.2

16

~6H

2020438

A BE|AES|AEE
K5 \rxze)\Easie

2020478 ~

X ~202052R




RHEEE | BRES A B & £
2-46 282403 | AYEVRY (H) 1 | M4X14
2-47 274927 | TR TEUT) 1 | 48~5579L ~20204& 2 A 202047 B~
2-48 283397 | 04 1 | ~20205% 2 H 20205% 7 A~
2-49 283165 | 19 =9%3v34NT7177Y 1 | 50~5574L ~ 202042 B 20204 7 B~
2-50 283267 | 14 1 | ~2020% 2 H 202057 A~
2-51 283268 | 1—-FT7tY7Y 1 | 5253794 ~ 20204 2 B 20205 7 B~
2-52 283178 | 7'79°%Yv7’ 1 | ~20205% 2 H 2020% 7 A~
2-53 272805 | 799 1 | ~2020%F 2 A 2020% 7 A~
2-54 283271 | ¥yv7° 1 | ~20205% 2 H 2020% 7 A~
2-55 283272 | ¥1-7° 1 | ~2020% 2 A 202057 A~
2-56 274191 | 3~ 1 | 3A94vFa4
2-57 261076 | nUTYE— 1
2-58 261417 | #7390 295 +Vb 1 | M8
2-59 280381 | AN 2
2-60 261256 | 6 h97FY¥K Lk WSW 2 | M4X25
2-61 286739 | AN=97°3Y 1 | CJBY
2-62 283648 | AMT A4YFIAVTY—-b 1 | ~2020% 2 H 2020 7 A~
2-63 269705 | 3NN 1| ¥y hd5 %y
2-47A 277796 | X5 #bT7EVT) 1 | 48A ~55A 794 20204 3 A~ 6 B
2-48A 277797 | A-4 1 |202063A~6H
2-49A 277798 | 19°=Z93AVAANT LT 1 | 51A~55A 794 2020 £ 3 A~ 6 A
2-51A 279577 | 3-N7tV77) 1 | 52A53A 7494 2020 £ 3 A~ 6 H
2-52A 278755 | 7'79°%Yv7’ 1 | 20203 A~6H
2-53A 278756 | 7v9 1 | 202063 A8~6H
2-54A 278752 | ¥yv7° 1 | 202043 A~ 6 H
2-55A 278754 | ¥1-7 1 |202063A~6H
2-62A 269983 | AMT A4YFIAVTY—-b 1 | 20203 A~6H




TC206 IT>>>
3. UOAMILRSY -4




RHES | HaES B M A W &% fim =
3-1 288684 | JA{IWR4—4T7tU7) 1 |2~10744
3-2 288685 | A4—47tU7") 1 |3~9744
3-3 288967 | Y-l 1
3-4 288968 | ANAFINAT YUY 1
3-5 262922 | tYIRY)2 1
3-6 288969 | -7 7ty7Y 1 |7~97494
3-7 288970 | A4—4n-7° 1
3-8 261725 | A8—4)7° 1
3-9 283511 | A—7"AkYn 1
3-10 288971 | A9—47-)T7t7") 1
3-11 269833 | FATIRY (+)WSW 1 | M4X16WSW
3-12 280489 | FAIRY (+)WSW 2 | M4X20
3-13 246851 | Ja{LIA N 1 | BIGM




36

g_

&

w N

oz
4. Fv IS, TF70U—F. BRS> 20

TC206 I:>

\____i_______________l




REES | BRES n&ma W B3k i =
4-1 289885 | ¥¥7LATEL7Y 1 |2~15724L
4-2 274472 | KUK TA 1
4-3 262991 | N=VRTA 1
4-4 262992 | KV hiN - 1
4-5 261874 | 734 1
4-6 283905 | 4'4Y¥77L4 1
4-7 262993 | h'A4Yb 1
4-8 262994 | 4'4Y77L4 1
4-9 282576 | h'AhUh 1
4-10 285030 | VIV 1
4-11 261871 | O YU 1
4-12 261876 | vy 1
4-13 261658 | A4~ 1
4-14 264682 | A1 2
4-15 262996 | A%'1 4
4-16 261864 | " AUk 1
4-17 264691 | O Y 1
4-18 277926 | 9Y)—-FT7tU7) 1 |19~ 21744
4-19 266433 | —A7tv7"Y 1
4-20 264695 | ILAVL 1
4-21 277554 | 9Y—thn— 1
4-22 269834 | FAIRY (+)WSW 2 | M5X60WSW
4-23 273515 | 4971077 1 |24~ 34754
4-24 273516 | 71—-I)L4Y) 1
4-25 275306 | 4v9%YV7TEY7Y 1 [267494
4-26 274875 | NYEY 1
4-27 261696 | 7')—%'934T 1
4-28 265752 | #UVAINATTEUTY) 1 |29~ 34744
4-29 264031 | WA7H34T 1 |30~ 32744
4-30 261115 | y'AA9b 1
4-31 261690 | #)3AYNA7’ 1 | 160L
4-32 263038 | A—n'70-N47 1
4-33 277887 | 7437 €077 1
4-34 261117 | )97’ 1
4-35 269828 | FAIRY (W 2 | M5X16W
4-36 281208 | FAI%Y (W 1 | M5X16W #94
4-37 281007 | AL 1 | FA-9 04 _~1

_10_




TC206
5. ftEm




REES | BRES n&ma W B3k i
5-1 221460 | K3 A% 1

5-2 220534 | BYnhn'— 1

5-3 210418 | AVERYIRANT 1

5-4 219431 | 6 WK IANT 1 | ZAUAN 3
5-5 022865 | YIAYFANT 1 | 8X10

5-6 242538 | M)TYh1tYA Y3 1 | TC206

_12_




eco
©

EHENEETY

AKX
EsEHERRO
Ly FE—- b 42— EE 0120-898-114
ZFIFARER: AN9:00~PM5:00(t+. H.#1B %k <)

Printed in japan 2020-07.J




